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A Ao
M Fo M Ho £
Celt 5B 44D 29 GEERED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
-NES A2 30,000 = 104 = 23] 60
O)==1=] 360
-A83gl= 360,000 ~ 1CH 360
202 o4l 4,000 4,000 0
01 2Ll 4,000 4,000 0
oY =& 4,000
206 M = dl 2,300 2,300 0
01 =4l 2,300 2,300 0
O=EZ223 2248 ME 500
ogdtdg 2| 1,800
Z2AE L THSX22(AH) 50,585 25,313 25,272
101 21 21d| 4,085 4,013 72
04 JIZtHI22XNSES 4,085 4,013 72
O&ARLIR HIEAIH o8 48 2403 * 20¢ 965
Odtz4 dX&Y o2 52,0008 * 60 3,120
201 gEt24A | 20,700 19,500 1,200
02 2=2=24%4| 20,700 19,500 1,200
OJIgs ¥ dss dIe=2
1,300,000 * 12& 15,600
OXe s Xdl 3,800
-AE5l= 3,800,000& = 1CH 3,800
[OFal=-2=PN:l! 1,000
OaL==X3& AIEmAH| 300
206 M = Hl 1,800 1,800 0
01 X2 H| 1,800 1,800 0
OaAL=R "2 1,800
401 AlEHIZL 2 0HY| 4,000 0 4,000
01 Al& H| 4,000 0 4,000
O™ X3 2 HS BT A 4,000
405 XHA&HF S HI 20,000 0 20,000
01 AL 2 FF S| 20,000 0 20,000
O™ g 7 20,000
FOIHOIZSA XYY (AEH) 260,000 250,000 10,000
DEUE NEHL (A4DH) 260,000 250,000 10,000
AR ZO=RAAH(ALH) 260,000 250,000 10,000
401 A& HI L 2 04| 260,000 250,000 10,000
01 Al&H| 260,000 250,000 10,000
22|11 =2 ™ H| 2 At (L=15m) 2,000
222 sS2E& Y ot2AA M2 2 AH(L=180m) 13,000
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